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For p=03% = P(X=z40)-09072
p=0,4 = PCXx<40) = 0,5858
p=9% = P(x =m)=012112
P=0,44%= P(x =) =0,4235
p=046= P(x=1)=073%62

Rundea quk 4. D(z,'ma[c = /039,9

b P(5eX)=0606 .
J=PCx<t)=06 |+P(x<4-0,6
04 = P(Xx£4)
For p=03 5 P(Xx<49) = 00905
p=0Y = pP(X<4)= 09,0007
p=01 = Plx=4)=~09%010
p=012 = PCx<4)~ 0,4206%
%PC;U/Z‘/:) P(X<£4) = 0248 abrund e
Rundtn au} 4, Dezimale = pxod2

) PUx2120) =0, ,
Fur p=0,% =0 PCNXZ20)x0,9095
p=0%%= P(X<20)~08r175
Rund tmr aul 1. Pezsiole =—"’>M

d) PC §<x) =0 ’
=) P < = -
48 PixE®) ol P fxe)-42
For p=0,4 = P(Xx<&)x 0,243
p=0%= Plx<g)x0 6767
P=07=> P(x<8)=] Jans
p-: 0,2‘::7 P()(ég) a d/g 770 Gu/cyumr//,/;
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